E: PV refresher 2 a022

Formula 3: extension to an infinite stream of identical payments:
Payment of F every year startingatT =1
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Example 5: infinite stream of $1000 payments

Payment = $1000
=5%

PV = $1000/0.05 = $20,000

Intuition:
Deposit $S20k in order to withdraw $1000 at the end of each year

Formula 4: infinite stream with a delayed start:

Payment of F every year startingat T + 1

Topics Page 1



F F F
| ] -
S S = )
O T T e "H3
Example 6: NPV of an R&D policy
Cost at O: S1IM
Benefit: $100k/year forever
Starting date: 11
r: 5%
F $100,000
PV, r =005 _¢9o8M

T A+nT  (1.05)10

NPV =5$1.228M - S1M = $228k

Example 7: Exercise on GC
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